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From 4 point on a plain the distances fro
mountains at the same height are S km
of sight is 102° find, to the nearest kilo
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and 14 km, If the angle between her lines
metre, the distance between the peaks.
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~REVIEW - What formula do | use? Ask yourself...

. " " ) ’3-/ - ;
- Is it a right triangle? If Yes, then...///,/)/g)_ .. 27) G- /2 \1 3 5
2
Primary Trigonometric Ratios PyThagor‘éan Theorem
sinezgi A
/4
HYPOTENUSE OPPOSITE ¢ (hypotenuse)
adj b«
cos@ = — .
Reference angle A X hyp N TN
ADJACENT g~ c N B
an 7 aa zZC é
Memory Aid: "SOH CAH TOA" cc=a’ +b’

CIf you are finding a side, do you have SAS? If Yes, then...
Law of Cosines

- If you are finding an angle, do you have SSS? If Yes, then...

Law of Cosines (rearranged)

2
b*’+c’—a
cos A=
2bc
- Anything else...use your Law of Sines!
a b c sin4 sinB  sinC
sind sinB sinC a b ¢

"when looking for a side" “when looking for an angle"
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EXTRA PRACTICE TIME..Finish for HWIl

[ Review - Primary Trig Ratios_Law of Sines_Cosines.pdf \
D

b}

sj_nﬂ:ﬂ
hyp
cosﬂ:% d b c
P 2 2 2 = =
a-=b"+c¢” —2bccos A4 sind sinB sinC
tanﬂzaﬂp
adj
- , ) )
b ict—g sin A :smB :smC
cos A= 4 b c
2 2 2
c'=a +b 2be




Untitled.notebook October 13, 2017

. X
A& ) X= 1Y
ge— £on$?



Untitled.notebook October 13, 2017




Attachments

Q Review - Primary Trig Ratios_Law of Sines_Cosines.pdf



Foundations of Math 11
Review — Primary Trig Ratios & Law of Sines/Cosines

1. Find the unknown side in each of the following...

a) b

)
A
X Y i |
-
-
14 g AF &

2. Find the unknown angle in each of the following...

¢ d)

) X
X
134
N 6 / \
35" 62°

\

a) b) ")
12
?
13
3

3. SOLVE (find ALL unknown sides and angles) each of the following...
a) A b)

10.8

49°
B 11.7 C
4. Find the distance from Paris to Berlin in the following diagram...
London 932 km i
343 km

Paris

5. A MVHS hockey game is to be decided by a penalty shot. The puck is shot from a point 10 m from one post and 12 m from
the other post. The posts are 2.5 m apart. Within what angle must the puck be shot for it to go between the posts?

6. Moncton, Shediac and Sackville form the vertices of a triangle on a map. If Moncton and Shediac are 32 km apart, and the
angles at Moncton and Shediac are 58° and 72° respectively, how far is Moncton from Sackville?

7. A forest ranger in a tower 128.0 m high sights two fires in the same line of sight with angles of depression 42° and 61°.
How far apart are the fires?

SOLUTIONS...
1.a) 10.9 b) 9.62 c) 19.1 d) 20.63 2.a) 126° b) 23°c) 76°
3. a)b=9.37; LA=71% /C =60° 4. 877.3 km 5.15.66 m 6. 7.9°

b) £C=117°; a=101.4; b=54.3 7. 39.7 km 8.71.21m
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